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PART .|
Ghoose the correct Answer. | 7%1=7
| If A is a 2x3 matrix and B is a 3x4 matrix, how many columns does AB have ----.;...
(a) 3 (b) 4 (c) 2 (d) 5

2. The number of columns and rows are not equal in a matrix then it is said to

(a) Diagonal matrix  (b) Rectangular matrix (c) Column matrix (d) &
' 1 31 _[5 7
3.  Find the matrix x if 2x + .
5 7 9 5 Q/

TR I S

4. Atangentis pemendipulér to the radius at the

(a) Centre (b) point of con (¢}, infinity (d) chord
5. Two tangents from an extemal points P 19 icle with centre O are PA and PB. If ZAPB = 70° then
the value of ZAOB is — ;‘:) ' |
(a) 100° (b) %sb (c) 120° (d) 130°
6. Transpose of Column

ma
(a) Unit matrix \:5 Diagonal matrix (c) Column matrix (d) Row matrix

7.  How many ta be drawn to the circle from an exterior point is
(a) 1 .. ?V (b) 2 (c) infinite (d) zero

('O PART -1l

ll. Answer any five questions only. [Q.No. 14 is compulsory]. 5x2=10
5 2 2 ‘

8. IfA= |17 0.7 5/, | ‘then verify (A)" = A

8 3 1 .

7 8 6 4 1 -3

9. A=|1 3 9|, B=|4 2 4 |thenfind2A+B

4 3 -4 .
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A man goes 18 m dueto east and then 24 M due north. Find the distance of his current position

from the starting point?

The length of the tangent to @ circle from @ POINt P, which is 25 cm away from the centre is 24 cm.

What is the radius of the circle?

If Ais of order px g and B is of order a X1 What is the order of Ax B and B x A.

State Ceva's Theorgm.

If A =(C°$9 S0 ) Prove that AAT = |
-Sind Cos0

 PART .|| QQ/ |
Answer any Five questions. Q. No. 21 is compulsory. & 5x5=25
7 0 %
FinanninfX+Y=[ }andX-Y=[ @
3 b

1 2 1 2 -1
IfA= { ] and B = Then show tnng)T—BTAT
2 4 1 A |
g \5:

' 3 1
ifA= [ ] the show that A? -
1 2 %

Show that the angle bisectors |angle are concurrent.

IfA= [ and l\b &:l Show that A? - (a+d) A= (b?- ad) I,.

P and Q are ‘ mg%nts of the sides CA and CB respectively of a AABC, right angled at C.
Prove that + BP?) = 5AB? |
State a ove Pythagoras theorem:.

PART-IV
Answer Any One of the following. T - 1x8=8
Draw two tangents from the boint which is 10cm away from the centre of the circle of radius 5cm.
Also measure the lengths of the tangents. |

Discuss the nature of the solutions of the quadratic equation: X'+ x-12=0
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